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1° Wuylatpkd TuApa Eloaywywy 25 11 10 4 25 25 100% 0 16%
2° Wuxtatpko Tpripa Eloaywywv 25 19 4 9 32 1 1 32 128% 7 28%
3° Wuxtatpiko Tpripa Elcaywywv 25 15 7 6 28 1 2 27 108% 2 22%
4° Yuylatpikd Turpo Elcaywywv 25 20 4 7 31 2 3 30 120% 5 23%
5° Wuxtatpiko Tpripa Elcaywywv 25 22 9 6 37 2 1 38 152% 13 16%
6° Wuxatpiko Tpripa Elcaywywv 25 7 2 14 23 1 1 23 92% -2 61%
8° Wuxtatpiko Turpa Elcaywywv 25 7 0 1 8 1 9 36% -16 11%
9° Wuxtatpiko Turipa Elcaywywv 25 16 17 6 39 1 40 160% 15 15%
10° Wuytatpikd TurApa Eloaywywv 25 20 14 7 41 1 42 168% 17 17%
Z0voAo Tunudtwy Elgaywywv 225 137 67 60 264 10 8 266 118% 23%
|I'Iaeo)\ovu(r’] KAwikn | 25 8 | 8 | | 32% -17 | |
Tunpata Xpoviag NoonAeiag
"Mrmoboodketo " WuxLatpLko TuARua 33 33 33 100% 0 0%
"Mpokat 2AB " Wuxlatpikd TuApa 38 12 38 38 100% 0 32%
7° Wuylatpikd TuApa 13 1 13 13 100% 0 8%
"Aypotkieg" M.M.A.A 8 2 5 5 63% -3 40%
2Uvolo Xpoviwv Tunudtwv 92 15 89 0 89 97% 17%
|Zevaveg (ouvoro) | 185 | 10 170 | | 170 | | 92% -15 | 6% |
|owotpodeia oivoro) | 305 | 6 294 | | 204 | | 96% -11 | 2% |
[Npoctatevbpeva Aapepiopata (aivoro) 129 | 1 110 | | 110 | | 8% 19 | 1% |
[Movésa Anegaptnong "18ANQ" (eovoro) 198 | | 110 | | 110 | | 56% -88 | |
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